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Chain Rule

flax)) = = = f(g(x)-g'(x)

qar df dg i .
dX dg dX @ f(g) a—g(x)
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Substitution Rule

flgx))+Cc = [f(glx)-g'(x)dx

flu+C = [ f(u) du

frigl)-gla = [riglx)-Lax u=g(x)
— ff'(u)du du:%dx
= f(u)+C
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Chain Rule and Substitution Rule

flax) = = = f'(g(x)-g'(x)

df _ df  dg

dx dg dx

Substitution (4A) 5 Young Won Lim

6/30/14



Substitution Rule

Flgx)+c = [f(g(x)-g'(x)dx F(x)+C = [f(x)dx
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